Mower - Model 04052
Dethatcher - Model 04109

’Bg JR Replaces Toro Greensmaster 1000 Parts
S
"

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




gn Replaces Toro Greensmaster 1000 Parts

Mower - Model 04052

~g®™  Dethatcher - Model 04109

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

Verti-Cut Reel & Blades

106-8402,
1 R106-8402 95-0929 Dethatcher Reel Assy 1 684.05
5 R150209C 106-6355 Verti-Cut Blade - Carbide 35 45 gg
Tipped 2mm
Detail Description: STRONG BY DESIGN. Each blade is made with the highest quality hand-picked
steel, and laser-cut to our exacting specifications for superior toughness and
wear.<BR><BR>TUNGSTEN CARBIDE TIPS. Protect blades from abrasion for extended life and
maintain a consistent cutting depth. Optional cutting widths to meet local turf conditions.:
5 R150109C 106-5422 verti-Cut Blade - Carbide 35 1265
Tipped 1.2mm
Detail Description: STRONG BY DESIGN. Each blade is made with the highest quality hand-picked
steel, and laser-cut to our exacting specifications for superior toughness and
wear.<BR><BR>TUNGSTEN CARBIDE TIPS. Protect blades from abrasion for extended life and
maintain a consistent cutting depth. Optional cutting widths to meet local turf conditions.:
6 R17-1590 17-1590 Verti-Cut Blade 35 4.15
Other Parts Available
10 R17-1600 17-1600 Spacer - V-Cut Reel 1/4 64 2.70
82-6600,
11 R82-6600 94.5889 Spacer - V-Cut 2 3.45
3220-18,
12 R3220-18 67-5840 Nut - Jam V-Cut Shaft 2 5.10
13 R93-8064 93-8064 Decal - Warning 1 2.65
27-2890,
14 R67-7960 62-5070, Decal - Warning 1 2.90
67-7960
15 R94-5887 94-5887 Shaft- Dethatcher 1 166.30
16 R98-5914 98-5914 Arm - HOC 2 138.55

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

Rﬁ JR Replaces Toro Greensmaster 1000 Parts

Mower - Model 04052
~g®™  Dethatcher - Model 04109

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

321-3,
17 R400106 513315, Bolt - Hex HD 1/4-20 x 5/8 2 0.29
908002P

01-150-0720,

01-178-0510,
18 R400190 30-8680, Bolt - Hex HD 5/16-18 2 0.42
ot 1-1/4 GR5

513343

24-9-BD,
3-1032,
3256-1,
3256-22,
93-0954,
93-0989

19 R3256-22 Washer - Flat 1/4 Yellow 2 0.13

3256-1,
3256-22,
3256-72,
33094-00

19 R453023 Washer - Flat 1/4 2 0.13

33094-00, Washer - Flat - 8mm

19 R33094-00 93-5914 Hardened

2 0.13

01-166-0070,
01-166-0410,
23-9-GD,
19 R3253-3 24-7150, Washer - Lock 1/4 2 0.12
3253-3,
3256-1,
352-167

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

20 R453009 Washer - Flat 5/16 SAE 4 0.14

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

Hg JR Replaces Toro Greensmaster 1000 Parts

Mower - Model 04052
~g®™  Dethatcher - Model 04109

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

3256-23,
20 R310266 3256-3, Washer - Flat 5/16 USS 4 0.24
3556-3

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,

20 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 4 0.12
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

1-804256,
3290-357,
3296-29,
915662P

21 R3296-29 Locknut - 5/16-18 ESNA 2 3.10

119-4038,
22-12-AJFD,
32127-35,
32146-5,
21 R32153-3 32153-3, Locknut - 5/16-18 ESNA Zinc 2 0.62
3296-18,
3296-29,
3296-31,
N/A

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

Hg JR Replaces Toro Greensmaster 1000 Parts

Mower - Model 04052
~g®™  Dethatcher - Model 04109

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

2296-42,
301504,
32127-24,
32128-33,
22 R301504 32146-17, Locknut - ESNA 1/4-20 2 0.19
3296-16,
3296-42,
3296-42,
915661P

23 R98-7255 98-7255 Shield - Dethatcher 1 67.80

24 R98-7274 98-7274 Bracket- Shield 2 13.45

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




